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[English]

U C  B usiness  in R ural A reas

*791. S H R I K. RAM AC H A N D R A  
R EDDY: Will the Minister of F INANCE be 
pleased to state:

(a) whether the Life Insurance Corpora­
tion has been able to exploit fully the rural 
potential for its activities; and

(b) if not, what steps are contemplated 
to boost its business in rural areas?

TH E M IN ISTER  O F STATE IN TH E  
D EP A R TM E N T O F EC O NO M IC  AFFAIRS  
IN TH E M IN ISTR Y O F FINANCE (SHRI 
E D U A R D O  FALEIRO): (a) and (b). Over the 
years, the Life Insurance Corporation of India 
has been making strenuous efforts to tap the 
rural potential for its activities. In particular, 
during the year 1987-88, the LIC has made 
good progress in new business in rural areas 
by securing 32.1%  of its total new business 
and selling 38.9%  of total new policies in 
rural areas. The important steps taken by the  
Corporation to expand its business in rural 
areas are summarised below:—

(1) LIC is opening more and more 
branches located in mofussil centres with 
large rural areas under their jurisdiction. Out 
of 256 new branch offices opened during the 
last 3 years namely, 1985-86, 1986-87 and
1987-88, 182 branches have been opened 
in mofussil centres with large rural territory 
under their jurisdiction.

(2) LIC is appointing more and more 
Development Officers in rural areas. During 
the last 3 years, more than 50%  of the new 
Development Officers were recruited in rural 
areas.

(3) LIC has framed a special stipendary 
scheme of rural career agents under which 
persons with rural background who want to

m ake insurance as their career are recruited 
and a  monthly stipend of Rs. 125 /- for the first 
year and Rs. 100/- for the 2nd year during 
training is paid so as to provide them  with 
some financial support till they are able to 
build som e am ount of commission income; 
and

(4) LIC  has introduced a special plan 
called “N ew  Jana  Raksha Policy” specially 
suited for people in rural areas. Under this 
plan, if, after paym ent of premiums for 2  
years, the policy-holder is not able to pay any 
future premium, the policy is kept in full force 
for a further period of 3  years.

B ank C h arg es

*792. S H R I K A D AM BUR J a N A R TH A - 
NAN: Will the Minister of F IN A N C E  be 
pleased to state'

(a) the rate of bill discount, cheque  
commission and dem and draft commission  
collected by banks before nationalisation;

(b) the differences in percentage of the 
commissions collected by banks after na­
tionalisation;

(c) whether small and medium traders 
and industrialists whose number is more in 
commercial circle are unable to cope up with 
the present bank charges;

(d) if so, the steps taken by Governm ent 
to redress the grievances of small and 
medium traders and industrialists; and

(e) if no steps have been taken, the 
reasons therefor?

TH E  M IN IS T E R  O F  STA TE IN T H E  
D E P A R TM E N T O F  E C O N O M IC  A FFA IR S  
IN TH E  M IN IS TR Y  O F  F IN A N C E  (S H R I 
ED U A R D O  FALEIRO ): (a) to (e). Prior to 
nationalisation of major banks, levy of serv­
ice charges such as rate of bill discount.
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commission on cheques and drafts, etc. 
varied from bank to  bank. During 1985-86, 
public sector banks adopted a  uniform sched­
ule of charges for different items taking into 
account the cost of inputs and other related 
factors. The  uniform charges fixed are in 
slab system providing comparatively lower 
rates for sm aller transactions. A representa­

tive chart of rates charged for above services  
prior to 1985 and subsequently is given in 
the statem ent below. Reserve Bank of India  
has reported that considering the rising costs 
relating to the sen/ices rendered, banks are  
not in a  position to m ake any downward  
change in these charges.
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